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Problem Set 5.5

1) Evaluate the logarithmic expression.
a) log28 b) logs216 c) log77

d) logsV5 ) log; (5:) £) In(1)

2) Solve for x.
a) logex = 2 b) logiex = -1 c) log«64 =3

3) Expand the expression using the properties of logarithms.
5
a) logs(3x) by in (%) ¢) log(xy4) d) log, (%)

4) Condense the expression using the properties of logarithms.

a) log;7 — logzx b) 2loggx + logg6 c) 3log,2 + log,6 — 2log,3 d) In(5) + In(x) - In(y)

5) Condense the left side of the equation. Then solve for x.

a) log,(6) + log,(x) = 6 b) logs(2) + logs(x) — logs(3) = 2

c) logg 2 + logg 4x? = d)in2-mn@Bx+2)=1



